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General Instructions :

5773

(i) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(ii) Section A contains questions number 1 to 5, Very Short Answer type questions of
1 mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type I questions of
2 marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type Il questions of
3 marks each.

(v) Section D contains question number 23, Value Based Question of 4 marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of
5 marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of 5 marks. In these questions, an examinee is to attempt any one of the
two given alternatives.

usg - A
SECTION - A
Tohe TR TR /S e 1 3T SFHESIHT JET STl § 2 1

On what basis is the skin colour in humans considered polygenic ?

TY I ST (FET SHM) & AR iidesh 3Tt ST 9K feld Tl BRI 8 € 2 1

How is lactic acid bacteria beneficial to us other than helping in curdling the milk ?

RS o IR BTl i STel 2ie-Tate i | foha T4 & 2 1

Why Western Ghats in India have been declared as biological hot-spots ?

21 fEU 7T Fo B veiT a9 39 SHifae 9T B =] BT S SH S H 7SS Al ¢ | 1
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Identify the picture and mention the vegetative part that helps it to propagate.

FATTThee g § I AR H 1T ST &t SHAraiH! (ORgET) e Sy |

Write the chromosomal defect in individuals affected with Klinefelter’s syndrome.

Qe - B
SECTION - B
fr=fefad & 1 Sare
(a) cry IACSTH
(b) RNA HTHT (RNAI)
Write the functions of
(a) cry 1AC gene
(b) RNA interference (RNA1)

3€

l

CFCs — 03 _>02

!

Pl - I
(a) CFC &1 qU A feifEy |
(b) TE A Bl [T UBR SHRISH H =1 T 3T & 2

3¢

l

CFCs — 03 —0,

Earth
(a) Expand CFC.
(b) How does it reduce ozone to oxygen ?

3
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8.  HMA SHUEA % WM SR gedl 31y & [RiTet & Amifhd 3G ST | 2

Draw labelled diagrams of stable and declining age pyramids of human population.

9. Sl § HUY cgfcam H 1 Hafd et & afs Sieny (i) Ffed & S g ar (i) ot @

I 2 2
rerat

TR ARG & IHT SR IR AREe i Hiel, s T | 3R Sarey ao7 S8 orge-ge ot

FATET |

What happens to corpus luteum in human female if the ovum is (1) fertilized, (ii) not
fertilized ?

OR

Write the difference between the tender coconut water and the thick, white kernel of a
mature coconut and their ploidy.

10. YI9 9FE-SIE g S 9 fAEy | ST TR SR Aash- 1T samg | 2

Name the first human like hominid. Mention his food habit and brain capacity.

g - C
SECTION - C
11. (a) 9=H 3R TH T (SR T ST TR |
(b) &1 &l ST = o oIU TG T Ueh XS BT § 2 3

(a) Differentiate between benign and malignant tumours.
(b) Why is colostrum a boon to the newborn baby ?

12. ORI SFFRATT ST 81T € 2 STIFHATT 35X Ueh AU-AT WIUa et § STeal SFTet sl 30 |
T EU UH I § Y fohgw 31k ot Tl & gt 7R i 2 2 3

What is ecological succession ? Where and why would the rate of succession be faster
in newly created pond or a forest destroyed by a forest fire ?

13. s fdl URaR | EHheraT A I T (e &, a9 39 URER i (&) o el gout §
SR T &IF & A T e ¢ | 3

(a) T = B € 2
(b) T SERT & AT AT I |

If there is a history of haemophilia in the family, the chances of male members
becoming haemophilic are more than that of the female.

(a) Whyisitso?
(b)  Write the symptoms of the disease.
57/3 4
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15.

16.

17.

18.

19.
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(a) USHET SR T2 A R T |
(b) TATSHES T BT & 2 SHPT I 99T bt it 41 TohaT ST € 2 3

(a) Differentiate between exons and introns.

(b) What is a plasmid ? Why is it selected as a vector ?

STEITeHT Sl 37T {ehTd T TohT Wb THE hidl & ? THATRT | 3
arrar

TTEST SIS I AT e 1 (39 R a1 1 Gohd AT € ? 37 [l & SR % AW
TATIT S AT | IR off Gohd & | 39 UK o URea 3T 9 o1 52T &l Fehdl & 2

How does the study of fossils support evolution ? Explain.
OR

What does Hardy-Weinberg Principle of equilibrium indicate ? List any two factors that
could alter the equilibrium. What would such an alteration lead to ?

ASHITSTH fFE e W HFe YRR & HidT JasT &al & | A IR | 3Gk SAa-<5h
ol aTeremet 1 9uiF ST | 3

At what stage does Plasmodium gain entry into the human body ? Write the different
stages of its life cycle in the human body.

FAT oFeX pBR 322 | (H=TAREd o 1 TRy : 3
(i) Ori, (ii) rop 3R (iii) Hind IIT Tt

State the functions of the following in the cloning vector pBR322 :

(1) Ori, (i) rop, and (iii) Hind III sites

30 IR A STl M WRF-gfg 1 U 300 & & | MOET Hreifiteht ¥ Mo i g H fohd
T T FHerd! § 2 3

High yielding cattle is a good solution for food enhancement. How does the MOET
technology help to increase the herd size ?

Y STA-T5h o IR T & H Ffetad G § g aTell Se1si i et HIfT ; 3
(a) e 57 | o1t aRed fo d% fUegedl B i & |

(b) TEd & W o Uged fa ae THRTE H 8 el HeA |

(c) Wiored fa ¥ oot Teel o T STSRTE H & aTell Jed |
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21.

22.
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Explain the events in a normal woman during her menstrual cycle on the following
days :

(a) Pituitary hormone levels from 8 to 12 days.
(b)  Uterine events from 13 to 15 days.

(c) Ovarian events from 16 to 23 days.

IR A W UTSTOT Sl GEET H WS HRO TR ¢ 7 S ol i gReT e o
TAE W & | FH X I o6 3 T &I aTel Uo7 TR SToA-Fehrai ohi 37865 T Sl
& T HROT ST SRS ST THaT FHTe & ST & |

Drinking water problem in our urban areas is caused mainly because we fail to protect

our water bodies. Explain how accelerated eutrophication chokes our water bodies to
death.

YIILIIT T BT © 2 SUGHT SRRV bl Gl § AT foh WX Sa-fafaredr aret gusE o
T N AL Bl ¢ 2

What is ‘predation’ ? Explain with the help of suitable examples why is it required in a
community with rich biodiversity.

ST TG § Gl o STA-0 T Teh 9T 9 T ¢ |

(a) 37 b HITHIST FH A9 FARY = eTel & ST aedlt § § et fofe Mo amr X0 |
T foAT T R |

(b) Y’ YT ST ATH ST AT STHT B T I |
(c) “Z’ ¥ T 19 SR TAT FeT &1 aTedt FeATST Sl ==l ity |
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23.

24.
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This diagram above shows a part of the human female reproductive system.

(a) Name the gamete cells that would be present in ‘X’ if taken from a newborn baby.
(b) Name ‘Y’ and write its function.

(c) Name ‘Z’ and write the events that take place here.

e - D
SECTION -D

T-AET 1 qare fhIRT § U St STRAl S SgEl 37 H ROTcHES T 3787 T ¢ |
T Whel H W B % A 3T 30 Thel & iR foniEt & are et #ig 3w
HIIHA R FHIAT THS HOT 3T T TR 30 Thel o Nl o HIg qT TH HRIHH ARH
AT TR Y 39 TEET 1 WY TRAT ST 9ok | 39 i 6l H H HEh Y TR AEg

T ? AT HIT | 4

Peer pressure plays a negative role in triggering smoking habits in adolescents. As a
school captain list any two activities you would like to organize with the help of senior
students of your school and any other two activities you would like your school
authorities to organize for the students to tackle this problem. Explain how these
activities will help in doing so.

g - E
SECTION - E
rDNA TreifiTent 5RT $qfei S 3 SFuaRT S S Hifs | 5
YT
(a) PCR & U X =5k o fafi=T =Xol &1 9o it |
(b) T UHR FT ToRAIRd DNA 3FhH Thq e o TeTT Toham STrar € 2
Explain the application of rDNA technology to produce insulin.
OR
(a) Describe the different steps in one complete cycle of PCR.
(b)  State the purpose of such an amplified DNA sequence.

7 [P.T.O.




25.

26.
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(a) URSTEREET o ATEhEIRISHIGE Sl UTshaT BT SHHTT JUH HiTT |
(b) T HITTHT STl 23 TR=FT T Teh ATHiTeRd 3T SR |
rerar

(a) THA H YD AR N FRF VT TRT | TW ARG H Hefarad Sa-st &
ATHTER SIS T 7 T T

FTet SHITTRT, SERIUTSTAHT AT ST ST |
(b)  TEHIVSHA i UishaT H fuegedt 3R for giai sl sJfieht s s Sifsw |

(a) Describe in sequence the process of microsporogenesis in angiosperms.

(b) Draw a labelled diagram of a two celled final structure formed.
OR

(a) Draw a sectional view of a seminiferous tubule of human. Label sertoli cell,
spermatagonia and leydig cell on it and write their functions.

(b) Explain the role of pituitary and sex hormones in the process of spermatogenesis.

T 3G ! TETI T t-RNA I G il AT BT | RN (SETH) Uihar § gHeht
JfeRT ST JU FHIT |

YT

R Tiel T T Tl &isT 3o~ ohied arel Hed 1 OreT {531 T € | 39 OiY & SR
(STFSRET) ST el & | S &1 &0l o HeW O 3 fhE WehR Uell of i foh Tel-Tel Simiesy

T E | TH BT I T3 SR T HATSAT, AT IHHT A 9} =T |

Explain the structure of t-RNA with the help of a diagram. Describe its role in the
process of translation.

OR

A pea plant producing yellow coloured and round seeds is given with unknown
genotypes. Explain how you would find the correct genotypes of the plants with respect
to the two traits mentioned. Work out the cross and name it.




